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Part - I1
COMPUTER SCIENCE AND INFORMATION TECHNOLOGY

Maximum : 60 Scores
Time : 2 Hours

Cool off time : 15 Minutes
K General Instructions to Candidates : \

® There is a 'Cool off time' of 15 minutes in addition to the writing time.

® Use the 'Cool off time' to get familiar with questions and to plan your

answers.
® Read the questions carefully before answering.
® Write answer to the specific number of questions as instructed.
® C(Calculations, figures and graphs should be shown in the answer sheet itself.
® Malayalam version of the questions is also provided.
® Give equations wherever necessary.
® Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.
wldegueaBd:

® Mlddladis MAQETIN alyoed 15 almlg ‘@id 60al e6so’ ©Ns0dleeo.

® ‘0 80al ©6SO’ G2IOGYTBR al@lalWee|SOMio HEDOBUD @RIV @EMo
£21Q0M0 HalGIUIHIM).

® HOMOETBWD af)LIOM@IM MM E2I0BYEIBW YBRLIAAQJo AUORBsEeMO.

® ogpio alleonadiieno Mlde3UlHnea|s ag)ifo B2IOB)TRRES MO(ER HOMOO
Q) PICDENBOIRE].

®  HBEMBE)  BYSENDWD, 2N(@EIBWD, (WOaNE-W, ag)MMIlc OOMOGla]GIEd ®Oam
N30l @lesemo.

® GoI0B)IBI MAIWOSEmILe M@BIQISNS.
®  BOUMIMES MOLIET MVACUIBYETBUWD EIBISHONEMo.

® GaIO(NIMBHWD 6.21YIMIBHIM dHI@HNICRIQOIHWD BF16HWIes B0)
EDRIBB(SOEMID HaldhOemo al@ldHInndE® HalEOUlHeIIOM aldslg). /

ia

1 Turn Over



PART - A

Answer all questions from question
numbers 1 to 5. Each question carry

one mark.

1. Computer recognizes and
operates in ......... language.

2. ASCII stands for ..............

3. Processed data is known as .........

4. Pictorial representation of

algorithm is known as .............

data type use 8 bytes of

memory.

PART -B

Answer any eleven from question
numbers 6 to 18. Each question

carries two marks.

6. Write a short note on Abacus.

7. Why are NAND gate and NOR

gate called universal gates?

Justify with an example.

1)

1)

1)

1)

1)

(2)

(2)

PART - A

1 )@@ 5 AUOOEBE ag)RJo GoIOB)EIBRBN0

HEMO0 af)PImEMo. B0BMI 821030 1 MOdHE)
Afloo.

1.  ®&mysd ddodloymope &dqjeog

B2 1RO «evvverrerrenes LI006()IEL @R6M.

2.  ASCII @es apdep @alo

o

@oem.

3. GIOTVMIW WORD wvevevererererrerncs ag)ony

@CIWOR{SIMY,.

4. eo@enoclmemlon) of(@lenemo
............. ag)MGlWeR]S30M.

TN wogo eesq] 8 eeegmy

60O HAIBWIUIBEYMY.

PART- B

6 oo 18 ueonwigs 6210B)mB&lM
o@e®@®slelo 11 agepo OO®RC ag) I

80600 82108 2 mod#es) Qflo.

6. @eenIoBOMIOMBN IO elag)y

allaieemo  af)Li@d-.

7.  momday ewg, emod eng agamial
@em1e U av @ BUNRYHHUD
) MSIWEQSIM® ag) MO B6NE ?

£B2a0M6M Madl®mo MVAd@OlL)H:.

114

1)

1)

1)

1)

1)

(2)

(2)



10.

11.

12.

13.

What do you mean by open

source software? Give an
example. (2)
Differentiate between RAM and
ROM. 2)
Classify the following C tokens.
auto,—7.5, "main", file, 'x',>>,
Break,% (2)
With an example compare = and
__ (2)
Find out the errors if any in the
following C++ statements and
correct the statements.
a) cout << "a=" a;
b) cin <<y
¢c) inta=5;b=26
d x+y=2z (2)
Rewrite the following code
fragment using do-while loop.
for(int i=0, s=0; i<=10; i++)

S+=1;

cout <<s; (2)
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a) cout << "a=" a;
b) cin <<y
¢c) inta=5;b=6
d x+y=z (2)
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for(int i=0, s=0; 1<=10; i++)

S+=1;

cout <<s; (2)
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14.

15.

16.

17.

Consider the following two code

fragments.
a) char s[20];

gets (s)

b) char s[20];

cin>>s

To read the string "Mobile
Computing", which of the above
code fragment is used? Justify

your answer.

Write the function prototype for

the following.

a) Receive two integer values

and return an integer value.

b) Receive three float values

and return nothing.

Distinguish between router and

gateway.

Arun owns a computer system.
What are the requirements for
connecting his computer to

internet?
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18. Compare GSM and CDMA

standards.

PART -C
Answer any seven from question
numbers 19 to 27. Each question

carries three marks.

19. Implement the following gates

using NAND gate.
a) AND

b) OR

20. Language processors can
translate the program written in
high level language to low level

language.

a) Name two such language

processors.

b) How do they differ?

21. Explain the different types of

errors in programming.

(2)

(3)
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22. Consider the following two
codes and explain how they

differ in working.

a) int i=2
while (i<=20)
{
cout<<i
i+=2;
if (i==10)
break;
}
b) int i=2

while (i<=20)
{
cout<<i;
i+=2;
if (i==10)
continue;

} 3)

23. Consider the following output.
Write the code to get the output.

1

2 3

7 8 9 10 3)
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a) int i=2
while (i<=20)
{
cout<<i
i+=2;
if (i==10)
break;
}
b) int i=2

while (i<=20)
{
cout<<i;
i+=2;
if (i==10)
continue;

} (3)
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24. a) Define an array.

b) Consider
declaration
int x[]={1,3,5};

What is the value of x[1]?

the array

¢) How many bytes are required
to store the

floata[3] [2]?

array

25. Write a C++ program to check

whether given string is

palindrome or not.

26. Explain any three topologies,

with a diagram.

27. Explain the threats that affect a

computer network.

PART -D

Answer any three from question
numbers 28 to 32. Each question

carries four marks.

28. a) What are the different
methods of representing
integer numbers in computer

memory?

b) Explain each method.
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(3)
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(3)
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29.

30.

31.

32.

List and explain different

e-Waste disposal methods. 4)
Write a program to print first
n terms of fibonacci series. 4)

a) What is the need of an array? (1)

b) State with an example how

an array is declared. (1)
¢) What is meant by array
sorting? (1)
d) Name any two types of
sorting. (1)
Consider the following code.
int fun (int n)
{
if (n ==1)
return(l)
else
return (n * fun (n-1)
}
a) Explain the speciality of the
above function. (2)
b) Write the main program to
implement the above
function. (2)
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int fun (int n)

{
if (n==1)
return(l)
else
return (n * fun (n-1)
}
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